
Ключи. Тесты по «БИОЛОГИИ» - 2022 

 

Общая сумма – 100 баллов 

 

Номер 

задания 

Баллы Вариант 1. 

Верные ответы 

Вариант 2. 

Верные ответы 

1 4 молекулярный биоценотический 

2 4 2 1 3 1 

3 4 165 540 

4 4 50 50 

5 5 10 4 

6 5 321424 432241 

7 4 356 234 

8 5 21435 14325 

9 4 145 124 

10 5 112212 2212112 

11 5 356142 643521 

12 4 135 245 

13 5 1122 321213 

14 5 52143 321645 

15 4 246 236 

16 5 232131 122212 

17 4 124 245 

18 6 123321 221122 

19 6 2341 523416 

20 6 635 812 

21 6 13 13 

 Итого: 100   

 

 


